www.arbindsingh.com

Imparting education to the world......

Solution of test paper -02

20.
$$| \gamma_{k} | \chi_{k+2} | \chi_{k+3} | \chi_{k+3} | \chi_{k+3} | \chi_{k+2} | \chi_{k+3} |$$

1.e nyz Comes in denum.

Put
$$K = -1$$

Then
$$\begin{vmatrix}
\frac{1}{\lambda} & \chi & \chi^2 \\
\frac{1}{y} & y & y^2
\end{vmatrix} = \frac{1}{\lambda y^2} \begin{vmatrix}
1 & \chi^2 & \chi^3 \\
1 & y^2 & y^3 \\
\frac{1}{2} & z & z^2
\end{vmatrix}$$

$$=\frac{1}{nyz}\left(\frac{n-y}{y-z}\right)\left(\frac{y-z}{z-x}\right)\left(\frac{xy+yz+zy}{x-z}\right)$$
(Standard Sesult)

$$21. A = B \times , A = \begin{bmatrix} 1 & 2 \\ 3 & -5 \end{bmatrix}, B = \begin{bmatrix} 1 & 0 \\ 0 & 2 \end{bmatrix}$$

$$\Rightarrow \times = B^{-1}A = \frac{1}{2} \begin{bmatrix} 2 & 0 \\ 0 & 1 \end{bmatrix} \begin{bmatrix} 1 & 2 \\ 3 & -5 \end{bmatrix} = \frac{1}{2} \begin{bmatrix} 2 & 4 \\ 3 & -5 \end{bmatrix}$$

22. N = 64 Cos4 = 65 64 (21-4) = 25-4 y = Sin Sin3 = Sin & (7-3) = 7-3. 7+4 = 37-7 ten (n+y) = -(an (3ñ-7) = -ten7 23. $\chi^{3} + 5\chi^{2} + (\chi + 1) = 0$ (6<0) : I is the only head hoot of equation Hence & must be negative. 1:e220 [: any eq's of odd digree with head Officient how at least one heal hoof opposite to the Sign of its constant term) :. tan' x + tan' = tan' 2 + cot-) d = - 1 $\frac{24}{5}$, $f(1) \leq f(2)$, $f(3) \geq f(4)$ and f(5) = 5i f(n) is a linear function : let f(n) = an+b. f(1) < f(2) =) a+b < da+b. \Rightarrow $a \ge 0$ \longrightarrow 4/50, $f(3) \ge f(4)$ =) 3a+b ≥ 4a+b => a ≤ 0 -(11) from (1) and (1) a = 0

$$f(5) = 5 \Rightarrow 5a+b=5 \Rightarrow b=5$$

$$f(n) = qn + b$$

$$= 0 \cdot n + 5 \Rightarrow f(n) = 5 \quad \text{constant fub.}$$

$$f(0) = 5$$

$$f(n) = \int_{0}^{\infty} \int_{0}^{\infty} \left(\frac{1}{n^{2} + 1} - n \right) dx$$

$$= \int_{0}^{\infty} \int_{0}^{\infty} \left(\frac{1}{n^{2} + 1} - n \right) dx$$

$$= \int_{0}^{\infty} \int_{0}^{\infty} \left(\frac{1}{n^{2} + 1} - n \right) dx$$

$$= \int_{0}^{\infty} \int_{0}^{\infty} \left(\frac{1}{n^{2} + 1} - n \right) dx$$

$$= \int_{0}^{\infty} \int_{0}^{\infty} \left(\frac{1}{n^{2} + 1} - n \right) dx$$

$$= Sin \left(\log \left(\sqrt{n^2+1} + n\right)^{-1}\right)$$

$$= Sin \left(-\log \left(\sqrt{n^2+1} + n\right)\right)$$

$$= -Sin \left(\log \left(\sqrt{n^2+1} + n\right)\right)$$

$$= -f(n)$$

i. f(n) is Odd function and Statement 1 is true.

Statement i Period of f(n) = 2 (or \frac{1}{3}(n-\bar{n}) ig

Period of Cosx is
$$2\pi$$

: Period of 2008 $\left(\frac{1}{3}\pi - \frac{\pi}{3}\right)$ is $\frac{2\pi}{\frac{1}{3}} = 6\pi$

.: Statement II is false.

only Sequence out of given option is TFF

(Statement in is false because it is even fernetion whose graph m'll be Symmetrical about y axis)

Section 1

26. Feriod of f(n) = 608 nn Sin 57 is 37 Period of Cosnx is In Period of Sin Sil is $\frac{2n}{5} = \frac{2nn}{5}$ LCm of and and is 3 n Clearly, n is multiple 75 When n=5, Lun $f = \frac{2\pi}{n}$ and $\frac{2\pi a}{5}$ is 2π h=10, Lan of $\frac{2\pi}{n}$ and $\frac{2\pi n}{5}$ is 4π h=15, lem of $\frac{2\pi}{n}$ and $\frac{2n\pi}{5}$ is 3π f(n) = Cos 15 2 Sin 3 $f(n+3\pi) = (we 15(n+3\pi) \sin \cancel{\pm}(n+3\pi)$

> = (08 (45 / + 15 /) Sin (7+43) = (- (08 15 x) (- Sin x) = (08 15 / Sin x.

Then,
$$\frac{105}{n^2 - 14n} = \frac{105}{225 - 310} = \frac{105}{15} = \frac{7}{4nx}$$
.

(27) $d = \begin{vmatrix} f(n) & f(n) + f(\frac{1}{2}) \\ 1 & f(\frac{1}{2}) \end{vmatrix} = 0, n \neq 0$

$$\Rightarrow f(n) + f(\frac{1}{2}) = f(n) f(\frac{1}{2}) - (1)$$
and $f(n) = a + b \times n$

$$f(\frac{1}{2}n) = a + \frac{b}{2n} = (a + b \times n^{2})(a + \frac{b}{2}n^{2})$$

$$\Rightarrow 2a + b(x^{2} + \frac{1}{2}x^{2}) = a^{2} + ab(x^{2} + \frac{1}{2}x^{2}) + b^{2}$$

$$\Rightarrow 2a + b(x^{2} + \frac{1}{2}x^{2}) = a^{2} + ab(x^{2} + \frac{1}{2}x^{2}) + b^{2}$$

$$\Rightarrow 2a + b(x^{2} + \frac{1}{2}x^{2}) = a^{2} + ab(x^{2} + \frac{1}{2}x^{2}) + b^{2}$$

$$\Rightarrow 2a + b(x^{2} + \frac{1}{2}x^{2}) = a^{2} + ab(x^{2} + \frac{1}{2}x^{2}) + ab(x^{2} + \frac{1}{2}x^{2})$$

$$\Rightarrow ab = b \Rightarrow b(a - 1) = 0 \Rightarrow a = 1, b \neq 0$$
and $a^{2} + b^{2} = 2a$
when $a = 1$, $b^{2} = 1 \Rightarrow b = \pm 1$

$$f(n) = 1 \pm x^{2}$$
But $f(2) = 17 \Rightarrow f(2) = 1 + 2^{4}$

$$f(s) = x^{4} + 1 = 62S + 1 = 62S$$

$$f(s) = 5^{4} + 1 = 62S + 1 = 62S$$

$$f(s) = \left[\frac{62S}{500}\right] = \left[\frac{5}{4}\right] = 1$$
38.
$$tan^{-1}(x+1) + tan^{-1}x + tan^{-1}(x-1) = tan^{-1}3$$

$$dan^{-1}(x+1) + tan^{-1}(x-1) = tan^{-1}3 - tan^{-1}x$$

$$= \int tan^{-1}(x+1) + tan^{-1}(x-1) = tan^{-1}3 - tan^{-1}x$$

$$= \int tan^{-1}(x+1) + tan^{-1}(x-1) = tan^{-1}3 - tan^{-1}x$$

$$= \int tan^{-1}(x+1) + tan^{-1}(x-1) = tan^{-1}3 - tan^{-1}x$$

$$= \int tan^{-1}(x+1) + tan^{-1}(x-1) = tan^{-1}3 - tan^{-1}x$$

$$= \int tan^{-1}(x+1) + tan^{-1}(x-1) = tan^{-1}3 - tan^{-1}x$$

$$= \int tan^{-1}(x+1) + tan^{-1}(x-1) = tan^{-1}3 - tan^{-1}x$$

$$= \int tan^{-1}(x+1) + tan^{-1}(x-1) = tan^{-1}3 - tan^{-1}x$$

$$= \int tan^{-1}(x+1) + tan^{-1}(x-1) = tan^{-1}3 - tan^{-1}x$$

$$= \int tan^{-1}(x+1) + tan^{-1}(x-1) = tan^{-1}3 - tan^{-1}x$$

$$= \int tan^{-1}(x+1) + tan^{-1}(x-1) = tan^{-1}3 - tan^{-1}x$$

$$= \int tan^{-1}(x+1) + tan^{-1}(x-1) = tan^{-1}3 - tan^{-1}x$$

$$= \int tan^{-1}(x+1) + tan^{-1}(x-1) = tan^{-1}3 - tan^{-1}x$$

$$= \int tan^{-1}(x+1) + tan^{-1}(x-1) = tan^{-1}3 - tan^{-1}x$$

$$= \int tan^{-1}(x+1) + tan^{-1}(x-1) = tan^{-1}3 - tan^{-1}x$$

$$= \int tan^{-1}(x+1) + tan^{-1}(x-1) = tan^{-1}3 - tan^{-1}x$$

$$= \int tan^{-1}(x+1) + tan^{-1}(x-1) = tan^{-1}3 - tan^{-1}x$$

$$= \int tan^{-1}(x+1) + tan^{-1}(x-1) = tan^{-1}3 - tan^{-1}x$$

$$= \int tan^{-1}(x+1) + tan^{-1}(x-1) = tan^{-1}3$$

$$= \int tan^{-1}(x+1) + tan^{-1}(x+1) + tan^{-1}3$$

$$= \int tan^{-1}(x+1) + tan^{-1}(x+1) + tan^{-1}3$$

$$= \int tan^{-1}(x+1) + tan^{-1}(x+1) + tan^{-1}3$$

$$= \int tan^{-1}(x+1) + tan^{-1}3$$

$$= \int tan^{-1}(x+1) + tan^{-1}3$$

$$= \int tan^{-1$$

 $f^{-1}(u) = \sqrt{\lambda} - 1$

28.

Now
$$f^{-1}(17) = \sqrt{17-1} = \sqrt{16} = 4$$
 $f^{-1}(-3) = \sqrt{-3-1} = \sqrt{-4}$ do not exist as $f: R \rightarrow R: f^{-1}(-3) = \varphi$

if $f^{-1}(17) \cup f^{-1}(-3) = \{4, 4\}$

No. of elevents is 2.

30. : f is even function on interval $(-5, 5)$ and $f(x) = f(\frac{x+1}{x+2})$

: $\frac{x+1}{x+2} = \pm x$

:: $f^{-1}(-x) = f(x)$

when $\frac{x+1}{x+2} = -x$
 $\Rightarrow x+1 = -x^2 - 2x$
 $\Rightarrow x^2 + 3x + 1 = 0$
 $\Rightarrow x = -3 \pm \sqrt{5} \in (-5, 5)$

when $\frac{x+1}{x+2} = x$
 $\Rightarrow x^2 + x - 1 = 0$
 $\Rightarrow x = -1 \pm \sqrt{5}$
 $\Rightarrow x = -1 \pm \sqrt{5}$
 $\Rightarrow x = -1 \pm \sqrt{5}$

:. Total no. of solution in $(-5, 5)$ is 4 .

Sin'
$$x \in \begin{bmatrix} \frac{3\pi}{4}, \frac{5\pi}{4} \end{bmatrix}$$
, $\cos^2 x \in \begin{bmatrix} 2\pi, 3\pi \end{bmatrix}$
 $x \in [-1,1]$, $\tan^2 x \in \begin{bmatrix} 3\pi, 5\pi \end{bmatrix}$
 $x \in \mathbb{R}$

31. Sin' $x + \cos^2 y = \frac{11\pi}{2}$

which will both sty only when $\sin^2 x = \frac{5\pi}{2}$

thence, there is only one sofution

32. $\sin^2 (\cos (\frac{5\pi}{4})) = \sin^2 (\cos (2\pi - 3\frac{\pi}{4}))$
 $= \sin^2 (3\pi - 3\frac{\pi}{4})$
 $= \sin^2 (3\pi - 3\pi)$
 $= \sin^2 (3\pi - 3\pi)$

34 to 36.
$$f(n) = \begin{vmatrix} \chi & -16 \\ 9 & n - \lambda \end{vmatrix}$$

$$= \chi (\chi - \lambda) + 144$$

$$f(n) = 0 \Rightarrow \chi^2 - \chi \chi + 144 = 0$$

$$\Rightarrow \chi = \chi \pm \sqrt{\lambda^2 - 576}$$
for real value of χ ,
$$\chi^2 - 576 \geq 0$$

$$\Rightarrow (\lambda)^2 - (24)^2 + (\lambda)^2 + (\lambda)^2$$

$$\lambda = \pm 30$$
, $\chi = \pm 30 \pm 18$
 $\lambda = \pm 40$, $\chi = \pm 40 \pm 32$
 $\chi = \pm 145$
 $\chi = \pm 145$

34. The us. of values of & for which root of fry=0 integers = 16

35 Warximum value of > is 145

36 Sung of all volves of $\chi = 0$ (as Ity are equally positive and negative volves).

Section iv

Column match

(A)
$$f: \left[0, \frac{\pi}{3}\right] \rightarrow \left[0, 1\right]$$

Range of f(n) is $\left[0, \frac{3^{1/4}}{2^{1/2}}\right] \subseteq \left[0, 1\right]$ Hence, f(n) is one to one into function

$$f(x) = \frac{x+3}{x-1} \Rightarrow f(x) = \frac{-4}{(x-1)^2} < 0$$

Let
$$y = \frac{N+3}{N-1} = \frac{1}{2}$$
 Ny $-y = \frac{N+3}{2}$.

But $x \in (1, \infty)$
 $\Rightarrow x = \frac{3+y}{y-1}$

when $x > 1$
 $\Rightarrow \frac{3+y}{y-1} > 1 \Rightarrow \frac{3+3}{y-1} = 1 > 0$
 $\Rightarrow \frac{3+y}{y-1} > 1 \Rightarrow \frac{3+3}{y-1} = 1 > 0$

Range (1, \omega): Range = codomain

 $\Rightarrow f(x) \Rightarrow cone to one out function

 $\Rightarrow f(x) \Rightarrow bijective$

(C) $f: \left[-\frac{1}{2}, \frac{4\hat{n}}{3}\right] \Rightarrow \left[-1,1\right]$
 $f(x) = \sin x$

Graphs

Clearly, $f(x) = \sin x \Rightarrow \frac{1}{2} \sin x$
 $\sin x = \frac{1}{2} \sin x$

Clearly, $f(x) = \sin x \Rightarrow \frac{1}{2} \sin x$
 $\sin x = \frac{1}{2} \sin x$
 $\sin x = \frac{1}{2} \sin x$$

Range [-1,1] Hence onto function

(D)
$$f:(2,\infty) \to [8,\infty)$$
 $f(n) = \frac{n^2}{x-2} = \frac{n^2-4+4}{x-2}$
 $= x+2+\frac{4}{x-2}$
 $f'(n) = 1-\frac{4}{(x-2)^2}$
 $f'(n) = 0$, $(x+2)^2 = 4$
 $x-2=\pm 2$
 $x=0,4$

Clearly for is wellow strictly increasing nor decreasing. Hence many to one fundion Now, $(x+y=\frac{x^2}{x-2}) = xy-2y=x^2$
 $= x^2 + xy + 2y = 0$
 $x=y\pm\sqrt{y^2-8y}$

for real $x=y\pm\sqrt{y^2-8y}$

Sout $x\in(2,8)$

Suit $x\in(2,8)$

When $y = x$

If not satisfy in domain.

Lange [8,0) = codomain.